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       Name: ________________
     Title: Enzyme Regulation and Activity   


        Period: _____Seat:_____
Metabolism
 
   Enzymes are controlled in two major ways





1) Turning genes on or off that make a specific enzyme





2) _______________________________________________________________





-Binding to active site or allosteric site

Cofactors
  
  ___________________________ that bind to and enzyme and help it catalyze reactions 

2 types:


-Inorganic cofactors: zinc, iron, copper


-__________________________________________________________





Picture example: 
Enzyme Inhibitors
  _______________________________________________________________________

  _______________________________________________________________________

  -_______________________________- are similar in shape to substrate and compete   

  with it to bind to the active site



Picture Example

  -Noncompetitive inhibitors- ________________________________________________


__________________________________________________________________



Picture Example


  Irreversible inhibitors- ____________________________________________________



__________________________________________________________________ 


-Toxins and poisons




Sarin Nerve Gas




Pesticides (DDT, parathion)




Antibiotics (penicillin)

     Feedback Inhibition
  Metabolic ________________________________________
  ____________________________________________


     Enzyme Organization
 Enzymes are localized in specific parts of the cell to do 
their jobs 

 ___________________________________
    Other Factors

 Enzyme concentration
 Substrate concentration
 What affects the shape of an enzyme?





  - 


-


-

   Enzyme Concentration
  ( enzyme = ( reaction rate






-____________________________________________ 






-reaction rate levels off







*substrate becomes limiting factor







*not all enzyme molecules can find substrate

  Substrate Concentration   ( substrate = ( reaction rate






-more substrate = more frequently collide with enzyme 






reaction rate levels off…why?


Temperature

  Optimum Temperature:






-______________________________________





-enzyme not denatured  What causes denaturing? 






-in humans 35°- 40°C but different optimal 
    temps in other organisms.

pH


  Optimum pH- adds or remove H+
-Denatures protein by:






*____________________________________________
-In human pH 6-8
*depends on localized condition pepsin (stomach) = pH 2-3

     trypsin (small intestines) = pH 8

Salinity

  Salt concentration

-adds or removes cations (+) & anions (–)

-_________________________________________________________
 

 
 Summary:

Main Ideas/Questions   








